E12-A

m GT2-04 9631031
9631032

[TEM18 AB.CH.DFNL DKNSF. O/S.EP.l|

6 [Early Products




E12-B

KEY No. PART No.

S G A NN =

10
"
12
13
14
15
16
17

19
20
21
22

23
24
25

26
27
28
29
30

5140508-00/2
5140500-00/9
5147150-00/6
5146338-00/8
5146731-00/4
5116120-07/1

5116120-11/3
5140510-02/4
5140607-00/2

5140266-00/7
5140690-00/8
5140497-00/8
5140837-00/5
5140281-04/8
5140053-00/9
5106057-03/6
5140045-05/4
5146485-00/7
5136558-00/3
5136706-00/8
5136303-00/4
5140092-00/7
5140423-00/4
5116430-00/9
5126374-00/7

5126696-00/3
5116388-01/7
5147029-01/0
5106206-05/4
5147924-01/2
5146309-00/9
5147524-00/2
5141585-03/3
5116507-04/6
5140001-00/8

CT2-04 9631031

QUANTITY DESCRIPTION

SCREW

SWITCH

TIE WRAP

WASHER NETTLE FOLD
SCREW

HANDLE UPPER C/W GRIP

B N T = -

1 HANDLE UPPER C/W GRIP
1 CABLE

BOLT HANDLE
% UNCx 45 LG

WASHER
KNOB WING

CLIP

NUT NVLOC 5/16 UNC
WASHER

KEY

ADAPTOR PLATE WHITE

SCREW 5/16 UNC
LAREL WARNING

Crate =R L fath Lk ~

LABEL WARNING
LABEL WARNING
LABEL WARNING
PIN LOCKING
PIN RETAINING
LABEL FLYMO
HANDLE LOWER

N

= N = = NN NNNNN

= A NN R A

HANDLE LOWER

LEVER UP STOP

ROLL PIN

HOOD 47CM LESS UPSTOP
HOOD ASSY C/W UPSTOP
WASHER

WASHER SPRING

SCREW V4-20UNC x 31.75LG
IMPELLER

BLADE SPACER

N =2 O O P A A -

9631032

COMMENTS KEY NO. PART No.
3 5116817-03/1
32 5146677-04/1
33 5130109-00/1
3 5146712-00/4
35 5146713-00/2

EALY PRODUCED 36 5146714-00/0

PRODUCTS 37 5140461-00/4
38 5146314-00/9
39 5146715-00/7
40 5141703-00/8
a1 5140357-00/4
) 5140350-01/7
a3 5141703-00/8

cB.

AB.CHD.FAL.

DK.N.S.SF.

0/SEP..

EARLY PRODUCED

PRODUCTS

ALT. USE 5116388-04/1

ALT. USE 5106206-10/4

ALT. USE 514792413 /7

ALT 5116968-04/0

PRODUCT VARIANT

9631032-53 N.DK.S.SF.

QUANTITY DESCRIPTION

[EE TG G P G U S T J G Gy G G G

COMMENTS

BLADE 50.5CM

BOLT BLADE 75MM LONG
SPANNER

CAP

SPRING

ELEMENT

SCREW 10-24 UNCx 32LC
NUT 3/16" WHIT

FILTER BODY

FITTING

STRAP

HOSE

FITTING

ISSUED 10/85



	GT2-04
	Full Diagram
	Parts 1 - 27
	Parts 28 - 33
	Parts 34 - 39
	Parts 40 - 43

	Parts List


	6: Early Products
	8: 
	25: C/W UPSTOP
	18: ITEM 18     A.B.CH.D.F.NL.     DK.N.SF.     O/S.E.P.I.
	Z: Early Products


